Issued: 05/88
Revised: 03/23/06

WATEROUS

WATEROUS COMPANY

SOUTH ST. PAUL, MINNESOTA

CS SERIES IMPELLER SHAFT ASSEMBLIES

FOR WATEROUS SINGLE AND TWO-STAGE FIRE PUMPS

o ) Shaft See Page for Diagram
Pump Type Pump and Transmission Model Drive - - -
Type Spline Packing Mechanical Seal
CSWB, CSWK, 35 Tooth 4 5
CSYB Thru CSYF, R S bl
CSUYB Thru CSUYF, ear eparable 14 Tooth s .
Single Stage CSK, CSUK
CSK1 Front One-Piece N/A -
CSD, CSUD Front One-Piece N/A 12
CSHWB, CSHWK, CSHK, CSHM,
CSHYB Thru CSHYF, Rear One-Piece N/A 10 -
Two Stage CSUHYB Thru CSUHYF
CSHD, CSUHD Front One-Piece N/A 11 -
PLEASE NOTE SPL81609

WHEN ORDERING PARTS PLEASE SUPPLY PUMP SERIAL NUMBER

PAGE 1 OF 14



WATEROUS

WATEROUS COMPANY

SOUTH ST. PAUL, MINNESOTA

CS SERIES IMPELLER SHAFT ASSEMBLIES
FOR WATEROUS SINGLE AND TWO-STAGE FIRE PUMPS

REF NO. DESCRIPTION REF NO. DESCRIPTION
S2 Outboard bearing housing S27 Grommet, flinger
S3 Outboard ball bearing S28 Flinger disc
S4 Impeller, first stage S29 Outboard cap
S5 Stuffing box end assembly S30 Gasket
S6* Packing, flexible graphite (Grafoil®), solid ring S31 Square head pipe plug, steel, 1/4 in.
S7 Seal chamber cover S32 Oil seal, 1-1/2 x 2-3/4 in., 1-5/8 x 2-3/4 in.
S7 Packing gland (2 halves) or 1-7/16 x 2-3/4 in.
S9 Square key, 5/16 x 1-9/16 or 2-5/16 in. S33 Lube relief fitting, 1/8 in.
S10 Spirol pin, SS, 1/8 x 3/8 in. S34 Retaining ring
S11 Impeller shaft S35 Lock washer, 3/8 in.
S12 Retaining ring S36 Hex hd cap screw, 3/8-16 x 1 in.
S13 Wear ring (std, 0.025, 0.050 and 0.075 in. U/S) S37 Socket head cap screw, 5/16-18 x 1 or 1-1/4 in.
S14 Square key, SS, 5/16 x 2-3/4 in. S38 Tachometer driven gear
S15 Lubrication fitting, 1/8 in. S39 Gasket
S16 Hex hd cap screw, 1/2-13 x 1-1/4 in., grade 5 S40 Lock washer, 5/16 in.
S17 Lock washer, 1/2 in. S42 Ball bearing
S18 Hex castle nut, SS, 3/4-16 S45 Cap screw, 1/2-20 x 1-3/4 in., grade 5
S19 Cotter pin, SS, 1/8 x 1 in. S46 Hex nut, 1/2-20
S20 Bearing housing S47 Tachometer drive gear
S21 High pressure impeller S48 Tachometer gear spacer
S22 Flinger ring S49 Tachometer gear bushing
S23 Ball bearing, double row S50 Retaining ring
S24 Retaining ring S51 O-ring, 3-1/4 x 3-1/2 in.
S25 Impeller spacer S52 Spring pin, 3/16 x 1/2 in.
S26 Packing, soft ring S53 Oil seal, 1-23/32 x 2-3/4 in.

SPL81609
PAGE 2 OF 14
REV: 03/23/06



WATEROUS

WATEROUS COMPANY

SOUTH ST. PAUL, MINNESOTA

CS SERIES IMPELLER SHAFT ASSEMBLIES
FOR WATEROUS SINGLE AND TWO-STAGE FIRE PUMPS

REF NO. DESCRIPTION REF NO. DESCRIPTION
S54 End yoke with U-bolts S70 Housing spacer
S55 Shaft nut, 1-20 S71 Bearing spacer
S56 Cotter pin, 1/8 x 1-3/4 in. S72* Packing, flexible graphite (Grafoil®), split ring
S57 Tachometer sleeve S73 Bearing seal (used after 12/18/92)
S64 Mechanical seal (Refer to S95 or S96) S74 Retaining ring
S65 Retaining ring S75 Bearing housing plug
S66 Throttle bushing (not used on bronze body pumps) S76 Bearing shield
S67 Flat washer, 5/16 in., zinc plated S95 Repair kit, mechanical seal, outboard end
S68 Tachometer gear housing assembly S96 Repair kit, mechanical seal, drive end
S69 Flinger S97* Bearing spacer (used after 12/18/92)

SPL81609
PAGE 3 OF 14
REV: 03/23/06



510

‘N\ D/
I \ NOT AVALABLE SOFT RING BRAIDED
INDIVIDUALLY SEE S5 FILAMENT-YARN PACKING FOR PACKING RING

FLEXIBLE GRAPHITE REPLACEMENT SEE S72
GRAFOIL & PACKING

USED PRIOR

TO 4/21/06 L~ \_USED PRIOR

>

S TO 7/10/02

- S7
I~
(/’ NOT AVAILABLE
| INDIVIDUALLY SEE S72 -
| S
| \\ BFG PACKING \\
USED AFTER
I
! ST 70002
; A S7
I
.

S75

_-"S65
Sl USED

L7 s AFTER 3/21/02
////////‘\X

-
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
l

~ /‘> /)\
>
S N -
.-”_"USED FROM 2/26/02 P \\
- ~
TO 3/21/02 - NOT AVAILABLE ~
USED AFTER 4/21/06 - - INDIVIDUALLY SEE S72 N
- USED PRIOR BFG PACKING b
TO 2/26/02 < l
NOTE: TO ORDER ENTIRE IMPELLER SHAFT USED AFTER 7/10/02 |
ASSEMBLY, SPECIFY REF NO. S500 < ~ T\Sqo
L /\\ ‘
P S \
SEPARABLE SHAFT WITH PACKING FLEXIBLE GRAPHITE _ ‘ SPL 81609
GRAFOIL @ PACKING
(REAR DRIVE) FOR PACKING RING © ~ ‘
MODELS: CSYB, CSYC, CSYD, CSYE, CSYF, REPLACEMENT SEE S72 | oor mi i amn oep NOT AVAILABLE \\‘ PAGE 4 OF 14
CSUYB, CSUYC, CSUYD, CSUYE, CSUYF, FILAMENT-YARN PACKING USED PRIOR LT S A REV: 03/23/06
CSWB, CSWK, CSK, CSUK TQ 7/10/02 510 '



USED PRIOR
TO 4/21/06

USED AFTER 4/21/06

SEPARABLE SHAFT WITH MECHANICAL SEALS
(REAR DRIVE)
MODELS: CSYB, CSYC, CSYD, CSYE, CSYF,
CSUYB. CSUYC. CSUYD, CSUYE. CSUYF,
CSWB, CSWK, CSK, CSUK

wwwwww

NOTE: TO ORDER ENTIRE IMPELLER SHAFT
ASSEMBLY, SPECIFY REF NG. S500

S10
v NOT AVAILABLE

837%/\@

USED AFTER 9/15/88

INDIVIDUALLY SEE S5

NOT AVAILABLE
INDIVIDUALLY SEE S9%6

N

~

566

539 ~

NOT AVAILABLE
INDIVIDUALLY SEE 595

NOT AVAILABLE
INDIVIDUALLY SEE S5

I

(IRON PUMPS QONLY)

S66
(IRON PUMPS ONLY)

\@/ 539 <
\6f

o)

S67 N
~__USED AFTER 9/15/88

i

~_ 537

~

540

~

)

~

N
E#\SWO

~

\
\
\
I

SPL 81609
PAGE 5 OF 14
REV: 03/23/06



S10
‘N\ D/
~ | NOT AVAILABLE SOFT RING BRAIDED
‘ - INDIVIDUALLY SEE S5 FILAMENT-YARN PACKING | _|FOR PACKING RING
! - FLEXIBLE GRAPHITE REPLACEMENT SEE S72
‘ - GRAFOIL ® PACKING
\ R

(.~ “\_USED PRIOR

>

v/’/ TO 7/10/02
// S7
e
NOT AVAILABLE
INDIVIDUALLY SEE S72 N
\\ BFG PACKING \\
~USED AFTER N

7/10/02
o s7

\\ \ -
S69 \

USED ™
>\ AFTER 3/21/02 S |
T S S12 |
s7 Y S ‘\
<\‘\\ > \ ~

) N

SNl S7 S ~
P \
.-~ _"USED FROM 2/26/02 e \\
~
TO 3/21/02 - NOT AVAILABLE ~
et bRioR -~ INDIVIDUALLY SEE S72 \\
o 226/00 P BFG PACKING W
NOTE: TO ORDER ENTIRE IMPELLER SHAFT USED AFTER 7/10/02 !
ASSEMBLY, SPECIFY REF NO. S500 >~ T\SWO ‘
L /\\ |
\
SEPARABLE SHAFT WITH PACKING FLEXIBLE GRAPHITE ‘ SPL 81609
GRAFOIL @ PACKING
(REAR DRIVE) (WITH NON-SEALED BEARING) FOR PACKING RING ® - \
MODELS: CSYB, CSYC, CSYD, CSYE, CSYF, REPLACEMENT SEE S72 NOT AVAILABLE . ‘ PAGE 6 OF 14
CSUYB, CSUYC, CSUYD, CSUYE, CSUYF, SOFT RING BRAIDED INDIVIDUALLY SEE S5 ~
FILAMENT-YARN PACKING USED PRIOR S10 / REV: 03/23/06

TO 7/10/02

CSWB, CSWK, CSK, CSUK



NOT AVAILABLE
INDIVIDUALLY SEE S5

NOT AVAILABLE
INDIVIDUALLY SEE S96

S66
(IRON PUMPS ONLY)

~N
\@/ S39 <
\
~

~N
6. J
\\ USED AFSTéEZ 9/15/88 )
\\
S
~_ 537
N

\\\

g S13
~
\\
\
)@ S66 S

537 ~ (IRON PUMPS ONLYI >

S40 W

K ; |

S67 ~
S10 ‘
USED AFTER 9/15/88 T\

$39 ~ i

SEPARABLE SHAFT WITH MECHANICAL SEALS 0T AVALARE |
(REAR DRIVE) (WITH NON-SEALED BEARNG) NDIVIDUALLY SEE 595 SPL 81609

MODELS: CSYB, CSYC, CSYD, CSYE, CSYF, L ‘
CSUYB. CSUYC. CSUYD. CSUYE. CSUYF, NOTE: TO ORDER ENTIRE MPELLER SHAFT NOT AVALARLE N PAGE 7 OF 14
CSWB, CSWK. CSK. CSUK ASSEMBLY, SPECIFY REF ND. S500 NOVOULLLY oot o 6\810 REV: 03/23/06




SOFT RING BRAIDED
FILAMENT-YARN PACKING FOR PACKING RING
FLEXIBLE GRAPHITE REPLACEMENT SEE S72

GRAFOLL ® PACKING |

N

S /,//’} USED PRIOR
SZ7 S TO 2/26/02
~ P
}>§ USED FROM 2/26/02
S7 m S~ TO 3/21/02
~ -
S69 ~

\
~ ~ ~
\\ \\USED AFTER 3/21/02 3$33
o o S2
~ ~ S97
\\ USED AFTER 12/18/92 ~
S S73 ,
556590 - “\USED AFTER 12/18/92 ~
~ > 5
@ M0
A~ LFTER 3/21/07 - \‘ S3 "6
P ~ | s/ Tplll
g N S17
- < N ! <
- SN - s® - ‘ -
o s [N ~ e, SB
S28 s - o <
> -7 ~
\\\;//x S7 \ \\
.-~_"USED FROM 2/26/02 //\ \\ S13 S45
- T0 3/21/02 e NOT AVAILABLE ~
- - INDIVIDUALLY SEE $72
~ USED PRIOR A BFG PACKING
<
10 2/26/02 Ll USED AFTER 7/10/02 |
\SSEMELY, SPECEY REE o o0 |
R PACKING RING GRAFOIL @ PACKING \]‘
REPLACEMENT SEE S72| | < ot ming BRAIDED
ONE-PIECE SHAFT WITH PACKING FILAMENT=YARN PACKING USED PRIOR
[FRONT DRIVE) T0 7/10/02 SPL 81609
MODEL: CSK1 PAGE 8 OF 14

REV: 03/23/06



SOFT RING BRAIDED
FILAMENT-YARN PACKING FOR PACKING RING

ELEXIBLE GRAPHITE REPLACEMENT SEE S72
GRAFOIL ® PACKING

T0 7/10/02
v = o
SN e
////,5\\\\\\\ - 827//
~ - AN P
BFG PACKING o~ (ZQ .
N USED AFTER NG /f’/&\ “Sy.._--> USED PRIOR
o S~ S27 TO 2/26/02
~_ 7/10/02 \< ~ ///
S4 S S7 - . N e
~N

w\ \\\\\ >% USED FROM 2/26/02
~_.7 -
P / TO 3/21/02
y ~
0 S S69 7
~ ) \ \\USED AFTER 3/21/02 > S33
S , ~ 597 52
] / / ~._ USED AFTER 12/18/92 Y f

IS

= 2
@

5C

~

B ~ TN\USED AFTER 12/18/92 —_
555 569 S
USED AFTER USED > S46 9
4/20/98 AFTER 3/21/02 | <=
~_N
TORQUE TO ‘ S~ 4
275-325 LB-FT Y SN2 S
< ~ \\ >~ ! \\
N s7 o ~ S15
P / ~ ~
o SO ™~
- o S13
~ S45
P - AN
/// ~_ ~
AN xj( USED FROM 2/26/02 S7 P
">~ "Usep prior 10 372102
TO 2/26/02
NOTE: TO ORDER ENTIRE IMPELLER SHAFT <
ASSEMBLY, SPECIFY REF NO. $500 )
FLEXIBLE GRAPHITE
GRAFOIL & PACKING
ONE-PIECE SHAFT WITH PACKING e R SPL 81609
(FRONT DRIVE) SOFT RING BRAIDED PAGE 9 OF 14
. FILAMENT-YARN PACKING
MODELS: CSD, CSUD 0 710/02 S ——t

REV: 03/23/06



N \ NOT AVAILABLE SOFT RING BRAIDED
‘ INDIVIDUALLY SEE S5 R FILAMENT-YARN PACKING | |FOR PACKING RING
‘ FLEXIBLE GRAPHITE REPLACEMENT SEE S72
‘ P ( GRAFOIL ® PACKING
N -
‘ R | ~
N ~ P .
\ \(\ -
‘ e “\_USED PRIOR
| TO 7/10/02
L h S7 PR

/ ) S28 -
~ - s
N NOT AVAILABLE //\\ 597 5
7 S~ |INDIVIDUALLY SEE $72 - N \@/
- ~ S S13 N BFG PACKING Ny L SN N
: N “\_USED AFTER ~ s \@\82\7\\\\)“// USED PRIOR

~_ 7/10/02 - TO 2/26/02
\

~N _
~ ~ o <
25> USED FROM 2/26/02
S~
- TQ 3/21/02
S69 N

S21 “ A -

S69
=23 ~ USED

N AFTER 3/21/02

P ISR~ -
/3@\@ P
e, -
< \@\/@\/327/v§( - |

-1-7 USED FROM 2/26/02 \\ >13
TO 3/21/02
~" USED PRIOR ) i NOT AVAILABLE \\
TO 2/26/02 INDIVIDUALLY SEE S72
NOTE: TO ORDER ENTIRE IMPELLER SHAFT BEG PACKING
ASSEMBLY, SPECIFY REF NO. S500 ) USED AFTER 7/10/02 |
75
> T\Sﬂo ‘
ONE-PIECE SHAFT WITH PACKING . \
(REAR DRIVE) FLEXIBLE GRAPHITE ‘
MODELS: CSHYB, CSHYC. CSHYD, CSHYE, CSHYF, FOR PACKING RING GRAFOIL ® PACKING o7 AVALAGLE ‘ SPL 81609
CSUHYB, CSUHYC, CSUHYD, CSUHYE, CSUHYF, REPLACEMENT SEE S72 SOFT RING BRADED RS INDIVIDUALLY SEE S5 \\ PAGE 10 OF 14
CSHWB, CSHWK, CSHK, CSHM ~'USED PRIOR ~

FILAMENT-YARN PACKING REV: 03/23/06

TO 7/10/02 510 —*



SOFT RING BRAIDED

FLEXIBLE GRAPHITE

FILAMENT-YARN PACKING FOR PACKING RING
REPLACEMENT SEE 572

GRAFOL ® PACKING |

A~ \_USED PRIOR

~
T TO 7/10/02
S7
/
USED PRIOR NOT AVAILABLE sl
TO 4/20/98 INDIVIDUALLY SEE 572 - PN
- g
S5 \ ~_  BFG PACKING NG ///\ N
PN S _USED AFTER ~ P
. 2 7000 \\</ _
S~ S7 ~ AN \\’><
N -

~ (Bu S36

~N
S35
S55 é@ S69
USED AFTER - 2 Q/ﬁ USED
4/20/98 / <35 /\ AFTER 3/21/02
TORQUE TO S15 SN
275-325 LB-FT <
< -
s, s7
~ /,// N
o S N
lete ~ S13
~
-
S7 S SO
USED FROM 2/26/02 P \\
~o~"Usep priog 1O 3/21/02 // \\
TO 2/26/02 -
s BFG PACKING W
. USED AFTER 7/10/02

NOTE: TO ORDER ENTIRE IMPELLER SHAFT =
ASSEMBLY, SPECIFY REF NO. S500 S

FOR PACKING RING GRAFOIL ® PACKING

ONE-PIECE SHAFT WITH PACKING
REPLACEMENT SEE S72| | <net rinG BRAIDED

(FRONT DRIVE)
MODELS: CSHD, CSUHD FILAMENT-YARN PACKING TO 7/10/02 510 —*

~-~> USED PRIOR

AN

R T0 2/26/02

USED FROM 2/26/02
TO 3/21/02

SPL 81609
PAGE 11 OF 14
REV: 03/23/06



D/SWO
NOT AVAILABLE
INDIVIDUALLY SEE S5

NOT AVAILABLE
INDIVIDUALLY SEE S95

S66
(IRON PUMPS ONLY)

~
S39
\\ﬁjf// S7
S10 ~_
~
T ‘ e S97

“ N S69 USED AFTER 12/18/92
USED PRIOR ‘ . . S " S73
L S67 - @/USED AFTER 12/18/92

TO £/20/98 | ~ NN S ~ N
\ ‘ < . USED AFTER 9/15/65
596 M ys47 h
\ ’

~_ S37
I

555
USED AFTER

4/20/98
TORQUE TO
275-325 LB-FT
\\ \\ S13
/ e N
p S66 ~
=37 /@ o (IRON PUMPS ONLY) \\
S40 @ \w
S57 NOT AVAILABLE S67 ~ [ ‘
INDIVIDUALLY SEE S68 USED AFTER 9/15/88 \ S10 \
: |
NOT AVAILABLE \
INDIVIDUALLY SEE S96 - ‘ SPL 81609
ONE-PIECE SHAIT;I’ROXVTI'I'DI;WEI)IECHANICAL SEALS NOTE: T0 ORDER ENTRE MPELLER SHAET T d \\1 PAGE 12 OF 14
MODELS: £5D. CSUD ASSEMBLY, SPECIFY REF NO. S500 INDIVIDUALLY SEE S5 S10 REV: 03/23/06




SEAL HOUSING ASSY (REF)

MECH SEAL

THROTTLE BUSHING (RON PUMPS ONLY)

(REF)
~
539
\\
SEAL HOUSING COVER (REF)

y) V' RING (REF)
s

~ BEARING SPACER (REF)
BEARING SEAL (REF)

NOTE:
CSD, CSUD WITH TACHOMETER

THROTTLE BUSHING (REF)

(IRON PUMPS ONLY)

NOTE:
ALL CS, CSU PUMPS WITH SEPARABLE SHAFTS

S65

SEAL HOUSING COVER (REF)
539

MECH SEAL

SEAL HOUSING
ASSY (REF)

BEARING HOUSING (REF)
BEARING HOUSING

COVER (REF)

S32
S65

TAPPED HOLES ON CMD,

CMUD PUMPS ONLY 539

THROTTLE BUSHING (REF)
(IRON PUMPS ONLY)

NOTE:

ALL CS, CSU PUMPS WITH SEPARABLE SHAFTS SEAL HOUSING

ASSY (REF)

SEAL HOUSING COVER (REF)

MECH SEAL

REF NO. S95 SEAL REPLACEMENT KIT (OUTBOARD END)

10 TACHOMETER
N T\ DRIVEN GEAR
(REF)
SEAL 5
HOUSING
~
\\ =
L\ S49
S10 TACHOMETER TACHOMETER

SLEEVE (REF) HOUSING

REF NO. S5 SEAL REF NO. S68 TACHOMETER GEAR

HOUSING ASSEMBLY HOUSING ASSEMBLY
NOTE:

h PACKING GLAND ALL PARTS LABELED WITH (REF) ARE NOT

(REF) INCLUDED IN REPLACEMENT KIT, AND
ARE SHOWN FOR REFERENCE ONLY.
~N
BFG PACKING .
SPLIT RING
REF NO. $72 SPLIT PACKING REPLACEMENT KIT SPL 81609

PAGE 13 OF 14
REV: 03/23/06



USED PRIOR
TO 4/20/98

- Al
|
|
|
|
|
|
|
|

|
|
|
I
! 7
I
I
|
I
|

@vﬁ SHAFT NUT (REF)

END YOKE (REF)
S53

~ TACHOMETER GEAR HOUSING ASSY (REF)

&

S55
USED AFTER TACHOMETER GEAR (REF)
4/20/98
TORQUE TO BEARING SPACER (REF)
275-325 LB-FT
TACHOMETER GEAR
SPACER (REF)
~
- BEARING
(/ SPACER (REF)
‘ ~
\ ~ S42
‘ BEARING HOUSING (REF) \\ ~
) S32 \\ T
S51
"V* RING (REF) \\ J
\\ B
SEAL HOUSING COVER (REF) \/

TAPPED HOLES ON CMD,
CMUD PUMPS ONLY

MECH SEAL

THROTTLE BUSHING (REF)
(IRON PUMPS ONLY)

SEAL HOUSING ~

NOTE: CSD, CSUD WITH TACHOMETER ASSY (REF)

MECH SEAL

(REF)

NOTE: ALL CS, CSU PUMPS WITH
SEPERABLE SHAFTS

SEAL HOUSING ASSY (REF)

THROTTLE BUSHING (RON PUMPS ONLY)

539

SEAL HDOUSING COVER (REF)

cé)),

REF NO. S85 SEAL

REPLACEMENT KIT

FOR CS PUMPS (DRIVE END)

REF NO. S96 SEAL REPLACEMENT KIT FOR CSD PUMPS
Ws TACHOMETER (DRIVE END)

NOTE:
ALL PARTS LABELED WITH (REF) ARE NOT INCLUDED IN
REPLACEMENT KIT, AND ARE SHOWN FOR REFERENCE ONLY.

SPL 81609
PAGE 14 OF 14
REV: 03/23/06




